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1. Determine the values of ICQ , VCEQ, and IB for the circuits shown in Figure 1 a)
and b) (20 points)
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2. a) For the transistor switching circuit in Fig.2 , what is VCE when VIN = 0 V?
b) What minimum value of IB is required to saturate this transistor if p[X =200 ?

Assume VCE(sat) = Ov.
c) Calculate the maximum value ofRB when Vin = 5V. (20 points)
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3. Determine the total input resistance Rin(total), and approximate voltage gain and
current gain to the load of emitter- follower in Fig.3 . Assume the Pac =140 (20 points)
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5. Calculate the value ofID and VDS for the amplifier in Fig.5 (10 pionts)
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